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01 MEI2BZE+06l= 1,194,909 1,191,424 3,485
OFM=Z(Xa? S) 1,194,909, 000& 1,194,909
= 836,437
= 250,930
Al 107,542
ZOHQIEHH ALK 93,000 93,000 0
307 21201 A 93,000 93,000 0
04 QIZFHALAIH B = 93,000 93,000 0
OFM2 & A 20,000,000& = 13l 20,000
Q& X &0 & #HA 4,500,000& = 13l 4,500
©6.3 s0t212 & A 6,000,000& = 13l 6,000
OZOML nNS=o=HM A
4,500,000& = 13l 4,500
O=3stZ AU A 3,000,000& = 13l 3,000
OXZOCl =JIME &AL 4,000,000& = 13l 4,000
OAIZZOHQl ZI| A 3,000,000& = 13l 3,000
OAIZZ e =SXICHEl 3,000,000& = 13l 3,000
OQUS At E017] At 3,000,000& = 13l 3,000
OFe EHBNE 20,000,000& = 13l 20,000
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OFMHABE T 2ASXNIAAY 24
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101 14 Hl 1,027,971 1,170,846 AN 142,875
= 513,836
< 154,151
Al 359,984
04 JIZHHZ22XEES 1,027,971 1,170,846 A 142,875
OFMHUHHC20l AP (LEHA)
825,987,000 825,987
= 412,994
= 123,898
Al 289,095
OFMAUHHT 0l AL (AIZHA)
201,984,000& 201,984
= 100,842
= 30,253
Al 70,889
AZHE Ol CHOFAF HtA A 152,140 147,460 4,680
= 121,712
< 9,128
Al 21,300
307 glz2tol & 152,140 147,460 4,680
= 121,712




A el Zoel
Hm: ZojoI=R PE
&2 HOHA=EX JIgEH (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 9,128
Al 21,300
11T M SXASEX 152,140 147,460 4,680
O AI2HZHOH QI OHOFAF TIHA AMY 152,140,000& 152,140
= 121,712
< 9,128
Al 21,300
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307 21201 A 116,400 116,400 0
< 46,560
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Al 2,690,098
10 ALSISXAIEEE2IHEX 2,988,998 2,559,760 429,238
oFMeI=x2 2HX 2,988,998,000& 2,988,998
< 298,900
Al 2,690,098
FUAEBSAE 29 1,586,888 1,399,928 186,960
< 142,620
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307 gl2tol & 1,586,888 1,399,928 186,960
< 142,620
Al 1,444,268
10 ALl SXAIEEE2EH EX 1,586,888 1,399,928 186,960
OF2UEBSANE 2EXA 1,586,888,000& 1,586,888
< 142,620
Al 1,444,268
oSl 29 303,732 255,063 48,669
< 30,373
Al 273,359
307 glz2+ol & 303,732 255,063 48,669
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Al 578,695
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=} 9,042
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OHOMAMIIIS X SAIHE 2 XA
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o=t 9,042
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= 160,024
o= 20,575
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Al 3,515,435
10 ALSISXAIEEE 22X 16,740,167 15,266,608 1,473,559
OHMANFAIE 29 16,740,167,000& 16,740,167
= 11,718,117
< 1,506,615
Al 3,515,435
ZOHQAEIIAFAIE 29 230,061 204,432 25,629
= 23,006
Al 207,055
307 21201 A 230,061 204,432 25,629
< 23,006
Al 207,055
10 ALSISXAIEEE2IHEX 230,061 204,432 25,629
OFMAHIIHN=AE 2L XA 230,061,000& 230,061
= 23,006
Al 207,055
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< 117,131
Al 1,054,177
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